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V Semester B.Com. Examination, December - 2019
(CBCS) (F+R) (2016-17 and Onwards)
COMMERCE

Paper : 5.2 International Financial Reporting Standards

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be completely either in Kannada or English.

QRN — & [/ SECTION - A

1. CIRFYRTTR I WT-TINON L0Z0R. T NWTI-TFRL AT@ HOINRY. 5x2=10

Answer any five sub-questions. Each sub-question carries two marks.
(a) IFRS T 0@ tr;c’ﬁ_ssﬁﬁ;?i% S92,

Mention any two objectives of IFRS. L gmmmE—————
(b) Ind AS-2T TET OB H0BEIeH 9 A e 27 o\

/\:_// *{__iml_@ 2\

What are Inventories as per Ind AS-2 '3’ <% [ ': e :;J.,,

(c) EPS o058esd ? \5’ KGF - 563 122 1.(\3-}/

What is EPS ?

(d) ATFO DT 0BT 9
What is meant by Government Grants ?

(e) ZFPSTIYT BANY 0IPPTTETR SENM SOTOTTRNRTT %@@
Mention any four examples of Intangible Assets.

() IASB =2 GAAP mwm& WAOA.
Expand [ASB & GAAP.

(g) VB0 STROPT CIRR)TIRTRL ITHE YOTRTORMGI), S9R.

Mention any two items of other Income.

P.T.O.
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e 2o — ©/SECTION - B
CSRRYTECR Hrt THNCN w0k, TS TRR B WO,

Answer any three questions. Each question carries six marks.

2

9. [FRS & S0 ©mosseondm, Bogmmon Dm0,
Briefly explain six limitations of IFRS.

RPN RN

3x6=18

3. P03 BeewRd IO SOTTEP 7 FFS $B W WY FRNTIVEY, TR

What is Interim Financial Report ? Mention the minimum components of

Interim financial report.

4. 33 29208 SHLSNOT, 0TI NS 2013 T Iges ey IF e30D, STROA.

31.03.2019 T =%

asgjmdaod 20T STOD
RoWY B L;éu

SeDT TOBWIONNED

DeTorRG WoT WedT WE
TI0TT DWE

Bogy, WA WEE

IXENOR

1@TP

20BN STROL

4

12,00,000
1,40,000
30,000
50,000
80,000
2,20,000
20,000
20,000
80,000

From the following prepare a statement of profit or loss for the year ended
31.03.2019 as per Companies Act, 2013.

Revenue from operation
Salaries & Allowances
Stationery

Interest on long term loans
Publicity

Raw material consumed
Discount Allowed
Depreciation

Rent Received

3
12,00,000
1,40,000
30,000
50,000
80,000
2,20,000
20,000
20,000
80,000
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H O0td® 30T030 S Datde® gomaod Je. 60 gon metbﬁ%f?n 01.07.2018 SotH
00T, 31.03.2019 Tom S DNEIE FOTACH RP&d B3 beé 3.

(a) Fedd woBwes 1,00,000 (X 10 B8 FedI03) Heaonsb.

(b) mem®E, dB 01.04.2018 Jow X 80,000.

(c) 01.04. 2018 goth et den ? 60,000

(d) 31.03.2019 IRFT AT¥ 2332,4 ¥ 1,00,000.

30@3% LETRET LBORTODT, " B0RGEOND.

H Ltd. acquired 60% “shares of S Ltd. on 01.07.2018. The fo]la%ng”aﬂfémxahon\
is available as on 31.03.2019 in respect of S Ltd. : Sl _._1- : \,_

(a) Share Capital : 1,00,000 equity shares of ¥ 10
(b) General Reserve as on 01.04.2018 - ¥ 80,000.

(c) P& L A/c balance (Cr.) on 01.04.2018 - ¥ 60,0005\ oF - 553 122 ,{\
(d) Net profit for the year ended 31.03.2019 - 1 O(x ‘ ‘\f}_;f
Calculate non-controlling interest. "3’3 -

6. T ONBEE JFOTION 2O ms e &8 T 9,60,000 B FoWS NTJFY
$96,000. faEif'c‘gO&'b FOTWROIN ”“'CJ"G 6\5050 ﬁwﬁdaﬁa’n < 3,80 0006 thmw DRRT
BB Weoeers L ¥ 35,000 BB, 30T, Q:SC%@'@’ mocé@ofm =5 "?add evTodeend
3o, ¥ 4,10,000 203 ARG mm.

C?DZJFQJéES SH, BOTERRIWD.

T Ltd. has a plant whose original cost is ¥ 9,60,000 and accumulated
depreciation amounted ¥ 96,000 Another company sold a similar plant for
¥ 3,80,000 & the selling expenditure amounted to ¥ 35,000. The Management
has determined the value in use of the plant of ¥ 4,10,000.

Calculate the Impairment Loss.

Nyen — 4/SECTION - C
CIRYTRTOR TR JINTN WA TS TINW TOTL, OB, 3x14=42
Answer any three questions. Each questlon carries fourteen marks.
7. (a) IFRS9DmMITY &TRMT TOSRENT BTN, DIJOA.
Briefly explain practical challenges in implementing IFRS.
(b) IFRS & O30hY LIeFWINE FOTHFFTY YLOLTIMII QUTOIREANTTY, DTOA.

Briefly explain the benefits of achieving convergence with IFRS.

8. (a) OIPRTESR 14 IND AS Rem, SZOR.
List any fourteen IND AS.
(b) JoFINH TogHaoDd S & RwoROND Ind AS-37 T 9RODY 2&TON
BEIFOD &woqﬂéﬁ@ﬁa‘l ﬁoésgmﬁ WTOA.
Briefly Explain the disclosure of provisions under Ind AS-37, provisions,
Contingent assets & Contingent Liabilities.

P.T.O.
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9.

(a)

(b)

4 AR MEELR

T Qantde® 30TAOI 3T, cpialan a@&sﬁ% 2,000 0dogRZ, 2,20,000 )
TRA DOOIT =B ée d?ﬁd@ GST?’39 600 a:'im@@o Neacs 30TOID
Ndaﬁf\oﬁﬁi TP 559065 a’oeé 3on Towe ma@m aS,s?opJJ 82-GST Jr%

R MRIT. y Q- ' ¢ \
23S DD B 0ed B : ‘ \

s TonR T 4,500/ -

/I
’1 /al
3T, B0T X 4,000/~ 5 N
~ _ / /
wognad De T 3,000/- F
RPN Tone BRCTOHT womewd #E T 1,500/ =

HOBHR, oBoRNE SYBRAT e HOAT BB FoRRY ef, g T 11,000/ -
Ind AS-16 ZFo0 0ROTR SN, FOREHRCLR.

T Ltd. has purchased an equipment for its manufacturing unit. The
price paid for the equipment is ¥ 2,20,000 inclusive of GST of ¥ 39,600.
The company gets a credit of GST while calculating tax payable on
finished goods sold.

The additional cost incurred are :

Freight ¥ 4,500/-

Customs duty ¥ 4,000/-

Installation expenses T 3,000/-

Estimated cost of dismantling and removing the item would be ¥ 1,500/-
After the equipment was put into use ¥ 11,000/- was spent for cleaning
the spare parts.

Calculate the cost of PPE as per Ind AS-16.

Excel Ltd. 30TR0L BT BRI, 50T E&B0.

(i) T 8 Zeced, 3e. 8 OTINY TRV %wﬁ@ BRBENT DB, ¥TT WIY

10 I=ENLL.

(ii) ¥ 3 8necd 10 IXFNY IDBI 0T TRVT aﬁsw:u; B WATT Je. 10 TS
dwFﬁ

(iii) T3 &@@&3 3309 LR,0FA0T TP 08 TROT wm WRTT Je. 10T
dw&-’@

(iv) ‘—o@wéd 0T dag < 15,00,000.
(v) IDBI mod Ro® D TYoD Feww B, - TOT e 3e. 5.

(vi) RPOTZRE DTT0EE QLONHF — Be. 5

Calculate the borrowing cost of Excel Ltd.

(i T 8 crores arranged by issuing 8% debentures repayable after
10 years.

(ii) ¥ 3 crores by a loan from IDBI with 10 years term @ interest of
10% P.A.

(iii) ¥ 3 crores overdraft from Canara Bank @ interest of 10% P.A.

(iv) Cost of issue of debentures is ¥ 15,00,000/-

(v) Processing and consultancy charges for IDBI loan - 5% of loan.

(vi) Debentures are repayable at 5% premium.
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10. (a)

Kavya Ltd. 303202 31.03.2019 T In&8 83 3930803 AT.

5

2013 0 ©R0HY ©TT Cog-IF 29300, WOA.

ENDIODIN)

e3P, WAONEG DO
TE TURY

W% MONm 20WF
TOTAR [RRT IO

BFLDWRNG STOLT TR
24 =0 B

FIRT[ANY BOET oA

3

23081 Sood
DO BRI
2 W L
OAMOTT JT, AR ¢
wbéoﬁ"" OO &J%
O TIE W&
=]
QBT DF
=B
53003 301
920%00 ROT
pbstatolyataten

e - —
FToLoF N SVWF

i

Ot

83 39808 =0080N0T

(30T FoeNT 2013 T TFo0)

.
16,00,000
7.,00,000
3,00,000
1,00,000
40,000
1,80,000
1,00,000

60,000

@
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BOTR FoCNTD

31.03.2019 Totd ®RTA JOYS I LJOC’DS:Ll 8033004

DEBIT 4 CREDIT ¢
R8T B8y 12,00,000 |&eTd 20 0Bwoe 10,00,000
REITQT 8y 4,00,000 |[wIRT, 2O 6,00,000
Y BRAIND 4,00,000 (o033 253 6,00,000
$3990DYT TRAIND 4,00,000 290097 TRFVMOON 10,00,000
P9, To0ROT WITLEeTT
30 BRHEMON 7,00,000

TORNLD 5,00,000
RO (SDEDIN 8,00,000
INT 2,00,000

39,00,000 39,00,000

P.T.O.
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(a)

6

Prepare a statement of profit or loss under Companies Act, 2013 from
the following details of Kavya Ltd. for the year ended 31.03.2019.

Sales

Purchase of raw Materials

Commission Received
Carriage Inwards
Returns Outwards

Opening stock of Raw materials

Closing stock of Raw materials

Rent Received
Salaries to Employees

P.F. contribution to Employees

Interest on Bank loan
Interest on Debentures
Sundry expenses
Depreciation

Income tax paid

Excise duty
Consumables

Factory expenses

4
16,00,000
7,00,000
3,00,000
1,00,000
40,000
1,80,000
1,00,000
40,0’65@
2,00,000
50,000
30,000
30,000
10,000
40,000
75,000
50,000
80,000
60,000

From the following prepare a statement of financial position on 31.03.2019
under companies Act, 2013.

DEBIT z CREDIT 4
Tangible Assets 12,00,000 | Equity share Capital 10,00,000
Intangible Assets 4,00,000|General Reserve 6,00,000
Current Investments 4,00,000(P& L A/c 6,00,000
;tvzesrt I:;’Ets s 4,00,000|Non-current Liahilities | 10,00,000
Trade Receivables 5,00,000|Current Liabilities 7,00,000
Stock 8,00,000
Cash 2,00,000

39,00,000 39,00,000
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11,

(a)

(b)

X Ltd. &3 Y Ltd. 31.03.2019C TEITOAD wé%\% 8 3P¥T0BO3 VW :

BeBmedd X Ltd. Y Ltd.
< 3
T 10 Bé FReoT03 Fedd w0BoY 10,00,000 4,00,000
01.04.2018 Sod TBRET, A 3,00,000 1,00,000
01.04.2018 <oyo %a% 1,00,000 40,000
2018-19 IRFT DRY @'ag : 4,00,000 3,00,000
0 SEBWOR - L (e Juh | e 1,00,000 1,60,000
3 AN /" . ~.719,00,000  10,00,000
wansh [ YT \ ez )
{0 san ’,;:}\ i(GFPé§127 800 000 4,00,000
30,000 Y Ltdx , ¥ 3.\_____,,/.%3'\ \./
Redrdd Beas = * 6,00,000 -
X0% R 3,00,000 2,00,000
TROT S, 2,00,000 4,00,000
19,00,000  10,00,000

X 03w 01.07.2018 Bord Y Danedzs” 30TIOD FeNTZ

LYTER LR &o:bm FORI&LRBCWD.
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9)6?@»46 &@@5@

P OnedE B Q @xw*m« 31.03.2019 B T30 wb%\%, 33 FYFOEOS

"&d‘)éd :
RABRMOE P Ltd. Q Ltd.
z =
ReTY WoBT% (T 10 Bt Re) 16,00,000 8,00,000
01.04.2018 mmﬁé &) 80,000 1,20,000
aptate é@% 4,00,000 3,20,000
2300 BEBMOSF 2,80,000 3,20,000
1 23,60,000 15,60,000
SAN
c30g ﬁ:'eb GVTITTED 8,00,000 11,20,000
Q Ltd. © 60,000 3 edm%‘f@ BRRE 8,00,000 -
w9 SATED 7,60,000 4,40,000
23,60,000 15,60,000

QLtd. 8 <o 5, 01.04.2018 g0z X 1,20,000/-sn2d. 01.01.2019 S0

P Ltd, Q Lid. & w?&ﬁ%ﬁ&b DOCHAT.
QoDCTrEo BIIODT, ﬁozza&o@o:’b@.

P.T.O.
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ETRE AT

.(a)... The statement of financial position of X Ltd. & Y Ltd. as on 31.03.2019

(b)

were as follows :

Liabilities X Ltd.
4
Shares of ¥ 10 Each 10,00,000
General Reserve on 01.04.2018 3,00,000
P&LA/con 01.04.2018 1,00,000
Profit for the year 2018-19 4,00,000

Current Liabilities 1,00,000

Y Ltd.

4
4,00,000
1,00,000

40,000
3,00,000
1,60,000

10,00,000

Assets
Fixed Assets

Stock 5
Bank Balance ~ 2,00,000

4,00,000

2,00,000
4,00,000

19,00,000

10,00,000

X Ltd. purchased the shares of Y Ltd. on 01.07.2018. Calculate the

non-controlling interest.

The following are the Balance Sheets of P Ltd. & Q Ltd. as on 31.03.2019.

Q Ltd.
4
8,00,000
1,20,000
3,20,000
3,20,000

15,60,000

11,20,000

4,40,000

Liabilities P Ltd.
4
Share Capital of ¥ 10 shares 16,00,000
Reserves on 01.04.2018 80,000
P&LA/c 4,00,000
Current Liabilities 2,80,000
23,60,000
Assets
Plant & Equipment 8,00,000
Investment in shares of Q Ltd.
[60,000 shares] 8,00,000
Current Assets 7,60,000
23,60,000

15,60,000

P& L A/c of Q Ltd. stood at ¥ 1,20,000/- on 01.04.2018 P Ltd. acquired

shares of Q Ltd. on 01.01.2019.
Calculate the controlling Interest.

-00o0-



